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HAINY 14 14 15 93.3 28 43 65.1
EE5; 26 5 5 8 44 20| 2200 75 51 147.1
A H 132 3 241 376 409 91.9 741 761 97.4
AN 35 2 3 24 21 85 94 90.4 147 220 66.8
VA 2 74 6 35 117 96| 1219 208 190/ 109.5
= 43 1 32 7 83 84 98.8 177 170  104.1
=S 39 3 24 1 15 82 53| 154.7 133 106| 1255
H g 6 200 50 184 4 444 478 92.9 847 873 97.0
SUBARU 166 27 193 210 91.9 361 407 88.7
AR 88 88 88| 100.0 165 158 104.4
K4 14 1 563 106 642 13 1,339 1,281 104.5 2,532 2,462 1028
UDKZ 77 A 16 1 17 19 89.5 27 39 69.2
& D [E] PE 1 17 18 18|  100.0 36 34| 1059
i) A H 11 142 10 32 1 196 183  107.1 378 344  109.9
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ARG (1) 305 17 2,383 401 2,594 118 40 5,858
F e H/T% 84.3 88.2 105.0 99.8 97.4 | #DIV/0! 93.2 107.5 99.9




